CearAl [f1, f2, c1, c2]

fl[x ] =x-x"2/2/L
f2[x_] =x-x"3/3/L"2
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A=Table[o, {i, 1, 2}, {j, 1, 2}1;

-EAlntegrate[fl’ ' [x]f1l[x], {x, 0, L}I;
-EAlntegrate[fl’ ' [x]f2[x], {x, 0, L}1;
-EAlntegrate[f2’’ [x]f1l[x], {x, 0, L}1;
-EAlntegrate[f2’’ [x]f2[x], {x, O, L}1;
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Mat ri xFor m[A]
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g[x_] =ax
ax

g=Table[o0, {i, 1, 2}1;

q[[l]] =Integrate[g[x] f1[x], {x, O, L}1;
q[[2]] =Integrate[g[x]f2[x], {x, O, L}1;
Mat ri xFor m[q]
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c = Li near Sol ve [A, q]
al?
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R
cl=%[[1]11;
c2 =%%[[2]];

u[x] // Factor
ax (3L%-x?)
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